Worksheet — Standard
Class XllI

Chapter IX- Differential Equations

ONE MARK QUESTIONS

1. The differential equationof all circles passing through the origin and having
there centrez onthe x-axi=z iz
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2. Ifthe general solution of a differential equation is
w=cyxi oo + cyc: . thenthe order ofthe differential equationis
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3. The order ofthe differential egquation of all circles of given radias is -
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&. The general solution of the differential equation is M = 0 1=
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T N parr_icular solution ofthe differential egquation
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2. Find theintegrating factor ofthe differential eguation
logx %—l—_}-‘ = 2logx .
Two Marks Questions
. d _ .
1. Given that;y = e ?Yand y = 0, when x = 5 find the value of x, when

v = 3.

2. Show that the following differential equation is homogeneous.
vdx + xlog |§| dy — 2xdy = 0.

3. write the integrating factor of the differential equation

cosy dx = (secy — xsiny)dy

4. Form the differential equation of family of ellipses having foci on y- axis
and centre at the origin.



FOUR MARKS QUESTIONS

1.Solve :xg+y—x—|—xycotx={],(x¢{]).
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2. Solve : (3 —

—
W ax WX

—L)E=1,x¢ﬂ.

dy

3.Formthe differential equation of the family of circles in the second quadrant
and touching both the co-ordinate axes.

4.solve: (14 e /7)dx+ e /¥ (1 —X)dy=0.
5.Find the particular solution ofthe differential equation:
x dy/dx —v + Xcosec (v/x) =0 .given that y=0 whenx=1.

6.Find the equation of curve through the point (1. 0) if the slope of the tangent

to the curve at any point (X, v) is y—1
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7. Show that (x - y) dv =(x + 2y _)dx is a homogenous differential
equation. Also, find the general solution of the given differential

equation.
8.Find the solution of the differential equation.

dhx ,
—+xcot v=2v+ v cot yv.(yv=0)



